EXEBHRXINA

EEEILHERESFIR

R R ()

A A 4H 1R LY
A0 55 3H3IHET

(HAL )
A B g b o g
PEEFEEHMAS 518,641,221
FHH 26,868,600
HitE 9,596,994
=
f. BEESWHBE 475,552,584
g | EEHBS 200,000
U | pF-Hh4 475,321,584
é Z DA B4 31,000
z | #B
= RS RIA 13,408,266
&
EJ) HINA 28,145,625
I
* BB EEIASE 1,072,213,290
AGE 680,063,867
=
% BEMREE 337,088,453
% FEEE 106,820,777
H
g?‘ BN BEEEE 0
BEEE 1,123,973,097
BEENZESR A 51,759,807
= | BRAR-EYE 2,718,567
3
&
D [ohoBE=mIRA 0
A
%15
= | B [ mEEss A 2,718,567
B|= [ BAZFHE o|
Al =
v B
X\ &
% ZFOHOHBEFEI I 0
H
1)
e LS Ty 0
BEIMNNZER 2,718,567
BENZES A 49,041,240
= | EERTHNESR 0
E 3
%] E
1}?)2 Jibsz ZDHDEHIURA 534,600
x| A
1))
B [ 4RI A B 534,600|

(1)



(A7 )

B L I s e,
= | BEELSESR 3,887,493
E 3
&
? okormizs 0
H
)
B[Rzt 3,887,403
AR EZR A 3,352,893
HEEADEATLFEENZESR A 52,394,133
EXEHABHEE 0
LEENZERS A 52,394,133
(B3%)
FEEETIAGH 1,075,466,457
FEIGT I HET 1,127,860,590

(2)



